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FIRST COME FIRST SERVED

int n AT[],BT[],WI[]:

» Arrays to store data

AT = new 1nt [n]:

BT = new 1nt[n]:;

WL = new 1int[n]:
System.cub.println ("Enter Burst time: ");
for (int i = 0; 1 < n; i++){

system.ocut.println("Enter BT for process: " 4+ (1 + 1));

BIT[1i] = Integer.parssint({is.readline()):} '
SysStem. oub. Pramp Ly (M s s & s & i i i R R R R R R R R R R R R R "y s Stores burst time and
for (int i = 0; i < n; i+4){ arrival time

System.out.println ("Enter AT for process: " 4+ (1 + 1)):

AT[i] = Integer.parselint(is.readlLine()) ;}

EFSEEI['.C-'LIt.EIthlHI:" ----------------------------------- H:I :



WI[Q] = 0:
for {(int i = 1; i < n; i++){

WI[i] = WI[1 - 1] + BT[1 - 11]:
WI[i] = WT[1] - &AT[i]:}

for (int i = 0; 1 < n; i++)1{
RWT = AWT + WT[i] + 1:} Calculates waiting time
AWT = AWT / n: - Calculates Average waiting

time



PREEMPTIVE §JF

Create array to store the data

|

Stores data in the array

S

v

int proc[][] = new int[n + 1][4]:

v for(int i = 1; i <= n; i++)
{
System.ocut.println("Please enter the Arrival Time for Process " + i + ": ");
proc[i] [0] = Integer.parssint(br.readLline())
System.ocut.println ("Please enter the Burst Time for Process " + i + ": ") ;

proc[i][1l] = Integer.parssint(br.readLline())



Calculate the total amount of time

int total time

for(int 1 = 1; 1 <= n; 1i++)
{

total time += proc[i][1]:

v

int time chart[] = new int[total time]:;
for (int i = 0; 1 < total time; 1i++) |
. _ — Selects the shortest process that arrived
int sel proc = 0;
int min = 95%5%9%5;

for (int j = 1; j <= n; j++) {

if (proc[i][0] <= i)} {
if (proc[j]l[l] < min && proc[j]l[l] '=
Condition to check if process arrived

min = proc[il[l]:
sel proc = j;



or (int j = 1; 3 <= n; j++) |

if (proc[i][0] <= i) {
if (proc[Jj]l[l] = 0) {

proc[j] [3]++:
if {§j '= sel proc) > If the process is not assigned and
proc[il [2]1++: arrived its WT will increase by |
else 1if (j == sel_prnc}-~__~§_*
proc[i] [3]++: The process arrived and
is completed

Tloat WI = 0;
for (int i = 1; i <= n; i++) {

WT += proc[i][2]:

> Calculates the Average

WT /= n: .. .
waiting time

System.out.println("The Average WL i=z: " + WL + "m=s") ;



PRIORITY

int %, n, pll, pRll, BT[], w[]l, tl], awt, 1i:

P = new int[1l0]:

pp = new intll01: » Creates arrays
bt new int[10]:;

w = new int[l0]:

t = new int[1l0]:

for (1 = 0; 1 < n; 1++) |
System. ocut.print ("\nPFrocess["™ + (1 + 1) + "]:"):

bBLt[i] = s.nextInt();
ppli] = s.nextInt(); —* Stores data

nlfil = 1 4+ 1-



for (1 =07 1 < m — 1; i+4) {

for (int j = i + 1; 7 < n; j++)
if (ppl[i] < ppld]) {

x = ppli]:
prli] = pplil:
pell] = =
x = bt[i]:
br[i] = btl]il:
Br[]] = =
x = pli]-
pli] = plll-

* Calculates total time

pli]l = =
w[0] = 0;
awt = 0;
t[0] = bt[0]:
for (1 = 1; i < m; i++) {
Ww[il] = t[i - 17]: + Calculates Average
awt += w[i]: waiting time

t[i] = w[i] + bt[i]:



ROUND ROBIN

Create array to store the data

Calculating the total time

v

int
for

int
int
int

>1nt procl[]|[]

total time = 0;

(int i = 1; 1 <

= new int[n + 1][4]:

= n; i++) {

total time += proc[i][1]:

time chart[] =
sel proc = 1;
current g = 0;

new int[total time]:;



for (int j = 1; j <= n: j++)

if (proc[j]l[1l] '= 0) {
proc[j] [3]++:
if (j = sel proc)
proc[j] [2]++:
else 1f (j == sel proc)
proc[j] [3]++:

~ Waiting time calculation

float WI = 0;

for (int 1 = 1; TR 1++) ——— Prints Average waiting time
WI += proc[i] [2]:

WT /= n;

System.cout.println ("The Average WI is: " + WL + "ms");



